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‘Title ° Construction of Foueault.Pendulum
Reeeereh' '1ﬂaster of Science ( eaching Physics ) -
"Ghlang Ma1 Unlver51ty 1979'

Name_ . Kamol Anuchapreeda"
' KBSTRACT

u.Foucault pendulum consistslof three main . parts ;
A fulcrum whlch f50111tates the sw1ng1ng mechanlsm. A stripg
u_‘GOnnetlng the fulerum wzth a bob thls string must- be 1ené;
ﬁtough but small in dlameter. And flnally the bob 1tse1f whlch
: must be as heavy as the etrlng carn. support When all these
‘.parts are assembled the bob should sw1ng in a plane w1th a
:..perlod of 2TT*V1 / g~-and the'plane rotate clockwise with a
' speed of 15 S:.n?\per hour, where ;\ is the: latltude at- the g

experlmentlng 31te.

In thls research many types of fulcrum are employed

:: some-of them are ring types but one ef them is an iron bar w1th |
"a hole.: The bob used are a cyilndrucal type' an - ellipsoidal |

type and a t0p like type. The flrst two are of the same welghtl

namely 10 kg. but the last one welghts 27 kg. The st:lngs are

. number twentyatwo palno;wlre, yn yuare '4.90, 10.50 and'T2.60m..lehg
reeeeetively; .The experzment shows that if the iron bar with a
'hole 1s used to flt the 12 60 M, strung hav1ng the top like bob

at 1ts end,.thegepeed.of rotatlon is 3° 53 per.hour; which.is

the best result-obtaihed.=




